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dtiEE 285 | 32,956 241 | 31,985 44 97 LI 10 | 2,391 8 | 2,326 2 65
&5 34 2,483 27 2, 366 1 17 S 3 154 3 754 0 0
=5F 21 12 14 563 1 149 SWV=F 2 641 2 641 - -
=8 69 9,320 54 8, 966 15 354 FE 0 0 0 0 0 0
FhE 65 71, 601 54 7,413 11 188 J11 i 5 871 4 870 1 1
1057 4 4,627 35 4,548 6 19 ik 8 | 1,951 8 | 1,951 0 0
BE 55 7,338 55 7,338 - - HHER - - - - - -
ME 285 | 32,081 239 | 31,194 46 887 in 1 58 1 58 - -
3] 98 | 16,822 86 | 16,494 12 328 FfE 2 200 2 200 0 0
AR 59 8,843 50 8, 550 9 293 A 1 85 1 85 - -
535 63 9, 680 56 9,482 1 198 EA=1 3 561 3 561 0 0
BE 146 | 29,101 123 | 28,383 23 718 D 6 761 5 694 1 67
FE 96 | 22,240 96 | 22,240 - - PN 11 | 2,636 10 | 2,567 1 69
RE 224 | 36,928 196 | 35, 591 28 1,337 ® 0 0 - - - -
=1 142 | 36, 288 141 | 36, 287 1 1 i dad 12 | 2,100 9| 2,033 3 67
Y 33 6,428 30 6,374 3 54 fiE] LU 0 0 0 0 - -
s 63 | 11,747 63 | 11,747 - - IN=] 3 575 3 575 0 0
NEE 924 {178,077 841 |175, 148 83 2,929 de 4 74 0 0 4 74
=% 75 | 11,791 75 | 11,791 - - &[] 2 607 2 607 - -
= 8 1,175 8 1,175 0 0 REX 2 546 2 546 - -
alll 43 5, 705 37 5, 587 6 118 & it 75 | 14,811 63 | 14, 468 12 343
[i=Fis 33 4,861 28 4,772 5 89
Ik BB 69 | 11,509 56 | 11,203 13 306
pfiEl 103 | 13,645 91 | 13,366 12 219
2 15 | 12,476 66 | 12,219 9 257
= 42 8, 568 41 8, 564 1 4
INEE 448 | 69,730 402 | 68,677 46 | 1,053
A 40 6, 308 31 6,132 9 176
=D 30 4,847 29 4,780 1 67
PN 113 | 27,039 112 | 26,970 1 69
* L[ 124 | 27,443 121 | 27,3176 3 67
=R 14 2,813 11 2,719 3 34
FFLL 31 3, 231 23 3,116 8 115
NEE 352 | 71,681 327 | 71,153 25 528
S 5 315 3 282 2 33
BiR 6 144 2 115 4 29
fiE] L1y 49 6, 353 42 6, 185 1 168
INE 59 1,365 55 7,302 4 63
wnA 49 5,585 46 5,520 3 65
NEE 168 | 19,762 148 | 19, 404 20 358
(A=) 43 5,877 37 5,754 6 123
EI 38 6, 193 31 6, 066 1 127
EiE 64 9,290 58 9,110 6 180
= 39 4,248 35 4,184 4 64
INEE 184 | 25, 608 161 | 25,114 23 494
& 94 | 15,722 80 | 15,326 14 396
E8 37 6, 446 36 6, 431 1 15
R 66 8,885 56 8,715 10 170
RBEX 60 9, 756 50 9,525 10 231
x5 54 6,611 43 6, 450 11 161
=I5 35 6, 808 35 6, 808 - -
ERS 12 8,929 60 8, 647 12 282
i 37 3,117 26 3,430 11 287
INEE 455 | 66,874 386 | 65,332 69 | 1,542
£[EEt| 3,101 |496, 769 2,745 488,007 356 8,762
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*JLiEE 85 6, 687 85 6, 687 0 0 LR 0 0 - - - -
& 28 1,143 28 1,143 0 0 & 1 n 1 n 0 0
&F 6 414 6 414 0 0 SWVFE 0 0 - - - -
=i 5 380 5 380 0 0 FE 0 0 0 0 0 0
FXH 92 6, 442 84 6, 354 8 88 J1 [ 0 0 0 0 0 0
11517 23 2,271 23 2,271 0 0 iR 24 | 4,361 24 | 4, 361 0 0
25 42 1,927 42 1,927 - - HEER 0 0 0 0 - -
INEE 196 | 12,583 188 | 12,495 8 88 i) 38 | 3,878 38 | 3,878 - -
I 1 1 11 - - FiEd 0 0 0 0 0 0
AR 0 0 0 0 0 0 A 1 160 1 160 - -
BB 0 0 - 0 0 =] 0 0 0 0 0 0
BE 0 0 0 0 0 0 B 38 | 5,385 38 | 5,385 0 0
FE 0 0 - - - PN 9] 1,324 9 | 1,324 0 0
E 35 12 761 12 761 0 0 R 27 | 4,320 27 | 4,320 - -
* Il 24 4, 361 24 4, 361 - - CiJal 40 | 5,940 40 | 5,940 0 0
[ITE] 0 0 0 0 0 0 fiE] Ll 16 | 1,995 16 1,995 - -
min 40 4, 041 40 4,041 0 0 IN=] 0 0 0 0 0 0
INEE 17| 9,234 77 | 9,234 0 0 e A 0 0 0 0 0 0
bt g 0 0 - - - & 2 218 2 218 - -
= 5 566 5 566 0 0 REX 7] 1,009 71 1,009 - -
all 28 1,790 27 1,785 1 5 & &t 203 | 28, 661 203 | 28, 661 0 0
=K 30 , 371 29 , 360 1 11
Iz B2 9 1,159 9 1,159 0 0
el 1 160 1 160 0 0
*E A0 0 0 0 0 0 0
=5 32 2,722 32 2,722 0 0
NEE 105 9,768 103 9,752 2 16
*i5 8 43 5,127 43 5 721 0 0
* IR 74 8,625 74 8,625 0 0
* AR 121 | 17,936 121 | 17,936 - -
*EL [ 112 | 16,099 112 | 16,099 - -
=B 75 1,696 15 7,696 0 0
FFrL 68 2,947 65 2,929 3 18
INEE 493 | 59,030 490 | 59,012 3 18
B 35 2,557 34 2,552 1 5
BiR 18 373 17 3N 1 2
*fiE] LIy 32 3,529 31 3,524 1 5
W= 5 341 5 341 0 0
e 4 196 4 196 0 0
ML 94 | 6,996 91 6, 984 3 12
=) 3 255 3 255 0 0
=l 30 4,265 30 4,265 0 0
g 49 5, 354 49 5, 354 0 0
=0 33 1,800 33 1, 800 0 0
NEt 115 | 11,674 115 | 11,674 0 0
G 22 1,763 22 1,763 0 0
&8 13 580 13 580 0 0
K 28 1,130 26 1,119 2 11
i 87 6, 704 87 6, 704 0 0
x5 35 1, 361 34 1,349 1 12
Zls 0 0 - - =
*EE IR 44 | 2,640 44 | 2,640 0
sl 137 | 15,837 130 | 15, 708 7 129
NEE 366 | 30,015 356 | 29,863 10 152
2£EF| 1,531 |145,987 1,505 |145, 701 26 286
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